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QUESTION 1

Which statement is NOT true about Rational Focal Point (RFP)?

A. RFP requires substantial programming to configure.

B. RFP is 100% Web based.

C. RFP is a prioritization engine.

D. RFP adapts to the client processes.RFP adapts to the client processes.

Correct Answer: A

QUESTION 2

What is a characteristic of a view that hasactivated workflow in Rational Focal Point (RFP)?
A. Attributes in the view are always visible, independent of the state.

B. Workflow transitions can only be configured by Global Administrators.

C. Users can only update the current state with defined transitions.

D. It is possible to have several prerequisites that need to be fulfilled before transitions can be made.

Correct Answer: C

QUESTION 3

What happens when a user tries to log in while their account is in use on another computer?
A. The user is denied access until helogs out of the other computer.

B. The session on the other computer is terminated.

C. The user remains logged in on both machines with no warning.

D. The user is warned that for security reasons he should log out of the other session.

Correct Answer: B

QUESTION 4
Which chart is NOT part of the Visualize feature?
A. XY Chart

B. RadarChart
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C. Gantt Chart
D. Waterfall Chart

Correct Answer: C

QUESTION 5

What is NOT a step in the review process?

A. review the Action List

B. determine ownership of neededcorrections

C. prioritize the requirements

D. estimate the consequences of unfulfilled checkpoints

Correct Answer: C
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